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I nstructions to the caididatés:

1) Answer QLOr Q2,Q3 or Q4, Q5 or Q6, Q7 or Q8.

2) Neat-diagrams must be drawn wherever necessary.

3) Figuresto.theright side indicate marks.

4) Assume guitable data, if necessary.

¢

Q1) @ DescribelT Project Risk Identification Framework. Explain the types of
fisk with examples, Q) [9]

(
b) How doNetwork Diagramshelp I Project Planning? Define Predecessor,
Successor, and Parallel Actim"t'\eé. Giveareal-world example of each.[9]
/

/ .\OR
4
Q2) @ Explain objectiveﬁof lyity planning in detail with suitable example.[9]

b) List different project*Scheduling Techniques? Explain the Difference
between CPM and PERT. 9]

Q3) @ What are the different tools and methods used for.umonitering and

regulating proj ect-operations? [8]
b) What arethe different methods used in visualizing.progress. Explainin
detall [9]

OR

Q4)'a) Explain version control and change cerittal process in SCM with neat
diagram. [8]

b) Explainplanmonitor control cycleusedintheproject in detail with example.

[9]
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Q5) 8

b)

Q6) a)
b)

Q7) &
b)

Q3) &)
b)

How to select aright person for the j6b? Explain the recruitment process
in detail. [9]

What is Leadership? Explain Different approaches of leadership. [9]
OR
Explain Oldham-tHackinian job characteristic model. [9]

Withrelevant examples, differenti ate between management andleadership.[9]

Explain any four metrics used for devel oper practices? [6]

Define Application Lifecycle Management (ALM)ools? What feature
shoulthbe considered while choosing anAL M Tools? List some examples
.5

of &1-M tools? [6]
L {st any four examples of reports bq:metrics in agile projects? [9]
OcR‘ n
Explain application Iifecycl@ith itsphases? [6]
What isvisbility in,D 'Ops’? What are the different ways to enable the
visibility inAzure Dev@ps? [6]
o
What isAzure Borad? Explain with suitable example? [5]
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